
jkpo;ehL jpwe;jepiyg; gy;fiyf;fofk; 

njhlh;fy;tpf;fhd gs;sp 

gapw;rpj;jpl;lk; (Assignments) – AY 2019-20120& CY 2019 

Preparatory Programme for Secondary  

Fwpg;G: khztHfs; 3 kzp Neuj;jpy; tpil vOj Ntz;Lk;. rpW tpdhf;fSf;F 75 

thHj;ijfSk;>  ngU tpdhf;fSf;F 150 thHj;ijfSk; tpil ,Uf;f Ntz;Lk;. 

rpW tpdhtpw;F 5 kjpg;ngz;fs;> ngU tpdhtpw;F 10 kjpg;ngz;fs;. 

PPS -1: English & jkpo;             (5 x 3 = 15 Marks) 

   

rpWtpdh: 

  

1. Write any four Uses of indefinite articles?  

2.  Why was Gandhi surprised to get prizes and scholarships? 

3.  jpU. tp. fypahzRe;judhh - Mrpupau; Fwpg;G vOJf. 

 

ngUtpdh:                                                                (1 x 10 = 10 Marks) 

1.  Mq;fpyf;fy;tp kw;Wk; jha;nkhopf; fy;tp gw;wp vOJf. 

....................................................................................................................................................................... 

PPS – 2: Mathematics, Basic Science and Social Sciences  

            fzpjtpay;> mbg;gil mwptpay; kw;Wk; r%f mwptpay;    
 

rpWtpdh:               (5 x 3 = 15 Mark) 

1.  Write the Effects of deforestation? 

fhlopg;gpd; tpisTfis vOJf. 

 

2.   What the uses of Plaster of Paris? 

gpsh];lu; M‡g; ghup]pd; gad;fs; vd;d? 

 

3.  Write the Demerits of Federal Government. 

kj;jpa murpd; FiwghLfis vOJf. 

 

ngUtpdh:              (1 x 10 = 10 Marks) 

1.  A circus tent is cylindrical to a height of 3 m and conical above it. If the base radius is 

52.5 m and slant height of the cone is 53m, find the area of canvas required to make the 

tent.  

 xU rHf;f]; $lhukhdJ 3kP cauKs;s cUisapd; kPJ $k;G mike;jhw; 

Nghd;w tbtj;jpy; cs;sJ. mjd; mbg;gf;f Muk; 52.5kP> $k;gpd; rhAauk; 53kP 

vdpy;> mf;$lhuk; mikf;fj; Njitahd fpj;jhd; Jzpapd; gug;igf; 

fzf;fpLf.   


